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Ответы

1. 14

2. 17

3. 13
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5. 13

6. 15

7. 20

8. 17

9. 19

10. 19

Решите каждый пример, используя закон распределения при делении.

1) 70 : 5 =
50 : 5 = 10
20 : 5 = 4

2) 136 : 8 =
80 : 8 = 10
56 : 8 = 7

3) 104 : 8 =
80 : 8 = 10
24 : 8 = 3

4) 54 : 3 =
30 : 3 = 10
24 : 3 = 8

5) 78 : 6 =
60 : 6 = 10
18 : 6 = 3

6) 105 : 7 =
70 : 7 = 10
35 : 7 = 5

7) 140 : 7 =
70 : 7 = 10
70 : 7 = 10

8) 68 : 4 =
40 : 4 = 10
28 : 4 = 7

9) 57 : 3 =
30 : 3 = 10
27 : 3 = 9

10) 133 : 7 =
70 : 7 = 10
63 : 7 = 9
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